103

CIDR

()
<90

90-150
>150

59 £2.47 ng/ml

CIDR-B«
1 ng/ml
54-60
CIDR-B 54-60
1
() (ng/mi)
30 4.8912.52
27 6.18+2.79
46 5.70£2.17
103 5.592.47
2

109 CIDR-B 1
092 %
4
CIDR-B
1 CIDR-B
8 1,441 0.58ng/m|
CIDR-B
0.30£0.72 ng/m| CIDR-B
8 CIDR-B
CIDR-B CIDR-B
8 (5460 . )
(ng/ml) . (ng/ml)
1.23+0.47 0.0740.17
1.46+0.59 0.2340.38
157+0.61 0.4940.99
1.44+0.58 0.3040.72
CIDR-B
1 ng/ml CIDR-B

1 ng/ml CIDR-Bi
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5 PGFA !
CIDR-B 8

L (132 )

(103 )

(p<0.05; 29.13
s1818% ) 23
(0>0.05) 3
(p<0.05; 41.18 v5.1207 % ) 3
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3
(%)
(X2
() ( ) ( )
20.00 2821 p>0.05
(N=0) (6130) (11/39)
2 3 2558 16,67 0>0.05
(N=2,3) (11/43) (5130)
3 12.07 4118 p<0.05
(N>3) (7158) (14134)
18.18 20.13 p<0.05
(24/132) (30/103)
( 3 )
( 4) 22

(p<0.05; 58.82
1333 % ) ( 3 )



22-24
(Progesterone positive)
21-30
(Ultrasonography positive)
60
(Rectal palpation and
ultrasonography positive)

(-
T
2% 1
Tl
54-60 CIDRB
T
3158 % )
CDRB 24
54-60 CIDRB

23

( 3 )
(o
(x2
() ()
13.33 58.82 p<0.05
(2115) (20/34)
13.79 4418 p<0.05
(8/58) (15/34)
12.07 41.18 p<0.05
(7/58) (14/34)
(CIDR-B)
2 TiM6 ) T2(7 )
1. CIDR-B
54-60 CIDR-BO
CIDR-B 1
Iy
2 CIDR-B(T2)ifi

(p>0.05; 26.10



5
(T1)
(
22-24 41.30
(Progesterone positive) (19/46)
21-30 26.10
(Ultrasonography positive) (12/46)
60 26.10
(Rectal palpation and (12/46)

ultrasonography positive)

5
2221 60

50 4

40 4

30 4

20 4

Jurgg

24

2 (T2)
(%)
T2 (%2
( )

50.88 p>0.05
(29/57)

33.33 p>0.05
(19/57)

31.58 p>0.05
(18/57)

L’\: :{ - ARNTINTHANAKC) %
I 755 %
= THl(am)
= THI(noon)

Mild stress line
Medium stress line

Severe stress line

THI (9

.. 2542- . . 2543



THI

THI
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1
' Temperature Humidity Index (THI) 9
(Mild stress)
THI 79- 89
(Medium stress)
(p<0.05)
6
(THI 79 - 89; C e
( TH <79
(%)
() (X0
132 9.26 24.36 p<0.05
(5/54) (19/78)
103 18.03 45.24 p<0.05
(11/61) (19/42)
235 1391 31.66 p<0.05
(16/115) (38/120)
6 (Heat stress)
(p<0.05)
79 ( ) 24.36 %
79- 89 ( ) 9.26 %

(4524 \5. 18,03 %



(N=0)

(N=2,3)

(N>3)

(o)
)

0 1053
(0/8) (2119)
25,58 16.67

(11/43) (5/30)
10.00 35.00
(3130) (7120)
9.26 18.03
(5/54) (11/61)

p>0.05

p>0.05

p>0.05

p>0.05

21.07
(6/22)
33.33
(9/27)
14.29
(4128)
24.36

(19/78)

45.00
(9120)
375
(318)
50.00
(7/14)
45.24
(19/42)

(p<0.05)
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p>0.05
p>0.05
p<0.05

p<0.05

(p>0.05)

(p>0.05)
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